100y = 91.44 SININT GEORGE
80y = 73.15 3 doz at 100yds, 3 doz at 80yds, 3 doz 60yds B OURNE

full face, 1,3,5,7,9 imperial scoring

60y = 54.86
Y TENDE ALTUM § §TENDE vERUS
name bow style
2 end end ; i
date Y2 end hits olds | running
score | VENue score | score 9 total
archer’s signature scorer’s signature totals

108 arrows max score 972

100y = 9144 SANINT GEORGE
80y = 73.15 3 doz at 100yds, 3 doz at 80yds, 3 doz 60yds B OURNE

full face, 1,3,5,7,9 imperial scoring

60y = 54.86
Y TENDE ALTUM B 5 TENDE VERUS
name bow style
2 end end ; i
date Y2 end 2 hits olds | running
score | Venue score | score g total
archer’s signature scorer’s signature totals

108 arrows max score 972



